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1) Calcule as seguintes integrais indefinidas: 

(a) dx e x
∫ ⋅x    Resposta: (x – 1) ex + k 

(b) dx e x2
∫ ⋅x   Resposta: ex (x2 – 2x + 2) + k 

(c) ∫ ⋅ dxln x  x   Resposta: fazendo u = ln x e dv = x dx => k
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(d) ∫ ⋅ dxln x  2x   Resposta: fazendo: u = ln x  e dv = x2dx ⇒ k
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(e) ∫ ⋅ dx x sec 2x   Resposta: fazendo: u = x  e dv = sec 2 x dx ⇒  x tg x + ln | cos x | + k 

(f) ∫ ⋅ dx (ln x) 2x    Resposta: k
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(g) ∫ dx (ln x) 2    Resposta: x (ln x)2 – 2x (ln x – 1) + k 

(h) dx .e 2x
∫ x   Resposta: k
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(i) dxsen x  e -2x
∫ ⋅   Resposta: k)xsen2x(cose 
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(j) dx e 
2x3

∫ ⋅x   Resposta: fazendo: u = x2 e dv dxex x2
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(k) dx  xcos 23
∫ ⋅x   Resposta: fazendo: u = x2 e dv = x.cos x2 dx ⇒ k)xcosxsenx(
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(l) dx2x  cos e -x
∫ ⋅   Resposta: fazendo: u = e-x e dv = cos 2x dx ⇒  k)x2cosx2sen2(
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(m) ∫ ⋅ dxln x  nx   Resposta: k
n
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